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2.1 ;'n;'n] lhjg k|lbk df=lj= vf=kf= dd{t 50000

2.2 s{sn kf]v/L sfGnf b]lv :ofn 8fF8f kfO{k vl/ 20000

2.3 vD6L ;od''/] la;d'/] vfg]kfgL 100000

2.4 3§] vf]nf h/fo6f/ vfg]kfgL d{dt 150000
2.5 sfsL{ufpF 9fF8kfvf vfg]kfgL kfO{k dDf{t 50000

2.6 dxfb]j vf]nf vlq ufpF vfg]kfgL d{dt 80000

hDdf 450000

# k"jf{wf/ ljsf;

3.1 s'n vf]nf lahov{s pn]{gL x'Fb} v;|]gL df]=af= 500000

3.2 xs{k'/ 9fF8a];L ;8s :t/ pGglt tyf d{dt 650000
3.3 s{sn] s'F8'n] df]6/af6f] d{dt 380000
3.4 k"/fgf ufpF ebf}/] df]6/af6f] 300000

3.5 w}/]gL df]6/af6f] lgdf{0f 150000
3.6 3n]ufpF vf]k s]Gb| ejg lgdf{0f 220000
3.7 :jf:Yo rf}sL rp/ lgdf{0f 200000

3.8 dfg]ufpF dlxnf k|ltIffno lgdf{0f 50000

3.9 a]nL rd]nL l;FrfO{ s'nf] dd{t 150000

4.10 8fF8f 6f]n l;FrfO{ s'nf] dd{t 50000
4.11 vfgL s'nf] d{dt dfg]ufpF 100000

4.12 vx/] vf]nf dfg] rp/ l;FrfO{ 100000
hDdf 2850000
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